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L. ~ PRIX(O1)17 .
Mathematics (New)
9" (Fresh/Reappear) _

Note: Time allowed for Section - B and Section — C is 2 Hours and 40 minutes. '

= Section - B’ oL Marks: 36
Q-n Altempt any NINE parts, Each part carries FOUR marks, o

1. Solve the system of equations 2x + 3y = ~1andx - Y = 2 by using inversion melhodr.

R “(z). | (5423383 | |

2. 7 WZy=3=4i,2Z; =4 + 5], then find [—Z'-] 3. iSimplify ( 43)2‘72 with the help of logarithm.

. ' 1 10 N 1 N
4, Find x* + . .when X+ — = —, 5, Rationalize and simplify,
X! X3 ﬁ—1 )

Factorize 2xy? + Bxy — 24 x )
Prove by factor theorem that {x - 3) is a faclor of (4 - x? - 5x — 3) and hence find the other factor,

6
7
8. Find the H.C.F of (16m? — 14m + 3) and (6m* + 5m— 4) by factorization method.
9 Find the square root of (x® ~ 2x® + 3x* - 3x® + x?) by division method.

10. Think a number, add 3. Double the sum, If the answer is 40. Find the original number.

11. Ify = ~?}x, Find the missing in the ordere airs ( ,0)and (6,. ).
. 2 -
12, Find the inverse of A, when A = [pp % pa=0.
Section - C } Marks: 24

Note : Attempt any THREE questions. All questions carry equal marks, ) _
Q-lli  Show that the poinls A(1,2), B{3.4), G(4,5 Yand D (2, 3) are the vertices of a rectangle.

Q-IV ° Show that the medians of a triangle are concurrent and their point of concurrency is the point of triseélfon
of each median, T : . .

. Q-V  From the point outside a line, the perpendicular Isthe shortest distance from the point to the line.

Q-VI  Draw a triangle PQR, such the mPQ = 56cm, mQR = 45¢m and mRP = 3.4¢cm. Construct
a friangle SPQ equivalent in area to the triangte PQR.
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